
141. A river is originating from Tibet, moving towards East. After a 
reasonable distance it moves towards South and flows through a gorge 
then moves towards West, then again moves towards South and 
finally drains into the sea. What is the name of the river? 
एक नदी तिब्बि से तनकलकर पूर्व की ओर बढ़ रही है। एक उचिि दरूी के बाद 
यह दक्षिण की ओर बढ़िा है और एक कण्ठ से होकर बहिा है, फिर पश्चिम की 
ओर बढ़िा है, फिर दक्षिण की ओर बढ़िा है और अिं में समदु्र में ममल जािा है। 
नदी का नाम क्या है?

(a) Indus / मसधंु
(b) Ganga  / गंगा
(c) Brahmaputra / ब्रह्मपुत्र
(d) Mekong  / मेकांग



142. Match the following 
तनम्नमलखिि को ममलाएं

List I (Original) List II (Metamorphic Rock) 
A. Basalt / बेसाल्ट 1. State / राज्य
B. Coal / कोयला 2. Schist  / शीस्ट
C. Limestone / लाइमस्टोन 3. Marble / सगंमरमर
D. Shale / शैले 4. Diamond  / हीरा
Codes 

A B C D A B C D
(a) 1 2 3 4 (b) 4 3 2 1 
(c) 2 4 3 1 (d) 3 4 2 1 



143. Continental crust is 
महाद्र्ीपीय क्रस्ट है

(a) 3 to 10 km thick / 3 से 10 फकमी मोटी
(b) thinnest at spreading ridges / दरारे िैलाने में सबसे पिला
(c) granitic in composition  / रिना में गे्रनाइट
(d) the source of Earth’s magnetic field 

पथृ्र्ी के िुंबकीय िेत्र का स्रोि



144. Which of the following statements is/are correct? 
1. The Earth is nearest to the Sun at Perihelion, which generally occurs on 

January 3. 
पेररहेमलयन में पथृ्र्ी सूयव के सबसे नजदीक है, जो आमिौर पर 3 जनर्री को होिी है।

2. The Earth is farthest away from the Sun at Perihelion, which generally occurs 
on July 4. 
पेरीहेमलयन में पथृ्र्ी सूयव से सबसे दरू है, जो आमिौर पर 4 जुलाई को होिी है।

3. The Earth is farthest away from the Sun at Aphelion, which generally occurs on 
July 4.
एफेमलयन में पथृ्र्ी सूयव से सबसे दरू है, जो आमिौर पर 4 जुलाई को होिी है।

4. The Earth is nearest to the Sun at Aphelion, which generally occurs on January 
3.  एफेमलयन में पथृ्र्ी सूयव के सबसे तनकट है, जो आमिौर पर 3 जनर्री को होिी है।
Select the correct answer using the code given below 
(a) Only 1 (b) 2 and 4 
(c) 1 and 3 (d) 1 and 2 



145. The Earth completes one rotation on its axis in 
पथृ्र्ी अपनी धुरी पर एक िक्कर पूरा करिी है

(a) 22 h 30 min 
(b) 23 h 56 min 4.9 sec 
(c) 24 h 
(d) 23 h 10 min 2 sec 



146. Which one of the following statements is not correct? 
तनम्नमलखिि में से कौन सा कथन सही नहीं है?

(a) Water starts boiling when its vapour pressure becomes equal to 
atmospheric pressure. / पानी उबलने लगिा है जब उसका र्ाष्प दाब
र्ायुमडंलीय दाब के बराबर हो जािा है।

(b) Water is known as universal solvent 
जल को सार्वत्रत्रक वर्लायक के रूप में जाना जािा है

(c) Permanent hardness of water is due to presence of MgCl2 , CaCl2
, MgSO4 and CaSO4. / पानी की स्थायी कठोरिा MgCl2, CaCl2, MgSO4 और 
CaSO4 की उपश्स्थति के कारण होिी है।

(d) Density of ice is greater than that of water. 
बिव  का घनत्र् पानी के घनत्र् से अचधक होिा है।



147. Which one of the following statements is true about Tropopause? 
ट्रोपोपॉज के बारे में तनम्नमलखिि में से कौन सा कथन सत्य है?
(a) It is formed due to the meteoric dust particles. 

यह उल्कावपडं धूल के कणों के कारण बनिा है।
(b) It is about 5-10 km thick. / यह लगभग 5-10 फकमी मोटा है।
(c) It is a zone of mixing.  / यह ममश्रण का िेत्र है।
(d) It’s average height is about 8 km over equator. 

भमूध्य रेिा पर इसकी औसि ऊंिाई लगभग 8 फकमी है।



148. Which one of the following is the correct order in which the gases 
from the atmosphere disappear as one moves away from the surface 
of the Earth? / तनम्नमलखिि में से कौन सा सही क्रम है श्जसमें पथृ्र्ी की सिह 
से दरू जाने पर र्ािार्रण से गसैें गायब हो जािी हैं?

(a) Carbon dioxide-Oxygen-Nitrogen
काबवन डाइऑक्साइड-ऑक्सीजन-नाइट्रोजन

(b) Oxygen-Nitrogen-Carbon dioxide 
ऑक्सीजन-नाइट्रोजन-काबवन डाइऑक्साइड

(c) Carbon dioxide-Nitrogen-Oxygen 
काबवन डाइऑक्साइड-नाइट्रोजन-ऑक्सीजन

(d) Nitrogen-Oxygen-Carbon dioxide 
नाइट्रोजन-ऑक्सीजन-काबवन डाइऑक्साइड



149. Consider the following statements related to stratification of 
atmospheric layers 
र्ायुमडंलीय परिों के स्िरीकरण से सबंंचधि तनम्नमलखिि कथनों पर वर्िार करें:
1. All storms and cloudiness are restricted to stratosphere. 

सभी िूिान और बादल समिाप मडंल िक ही सीममि हैं।
2. Cirrus clouds are formed on the top layers of troposphere. 

िोभमडंल की ऊपरी परिों पर मसरस के बादल बनिे हैं।
3. Stratosphere is also an isoclinal layer. 

समिाप मडंल भी एक समद्वर्बाहु परि है।
Which of the statements given above are correct? 
ऊपर ददए गए कथनों में से कौन-से सही हैं?
(a) 1 and 2 (b) 1 and 3 
(c) 2 and 3 (d) 1, 2 and 3 



150. Which one of the four regions above Earth has smallest height (km)? 
पथृ्र्ी के ऊपर के िार िेत्रों में से फकसकी सबसे छोटी ऊंिाई (फकमी) है?

(a) Stratosphere / स्टै्रटोश्स्ियर
(b) Mesosphere  / मीसोस्िीयर
(c) Thermosphere  / बाह्यमडंल
(d) Troposphere  / िोभमडंल



151. Earth is made up of many concentric layers. Asthenosphere is one 
them. Choose correct statement(s). 
पथृ्र्ी कई सकंें दद्रि परिों से बनी है। एस्थेनोस्िीयर उनमें से एक है। सही कथन 
िुनें।

1. It is believed to be in a plastic condition. 
ऐसा माना जािा है फक यह प्लाश्स्टक की श्स्थति में है।

2. It underlies mantle. यह मेंटल के नीिे है।
3. It is sometime termed as soft zone mantle or low velocity zone.

इसे कभी-कभी सॉफ्ट जोन मेंटल या लो रे्लोमसटी जोन कहा जािा है।
Select the correct answer using the codes given below 
नीिे ददए गए कूट का प्रयोग कर सही उत्तर िुतनए
(a) Only 1 (b) 2 and 3 
(c) 1 and 3 (d) All of these 



152. Troposphere is the hottest part of the atmosphere because 
िोभमडंल र्ायुमडंल का सबसे गमव भाग है क्योंफक

(a) it is closest to the Sun.  / यह सयूव के सबसे तनकट है।
(b) heat is generated in it.  / उसमें ऊष्मा उत्पन्न होिी है।
(c) it is heated by the Earth’s surface. 

इसे पथृ्र्ी की सिह से गमव फकया जािा है।
(d) there are charged particles in it. 

इसमें आरे्मशि कण होिे हैं।



153. Ozone layer in the outer atmosphere helps us in 
बाहरी र्ािार्रण में ओजोन परि हमारी मदद करिी है
(a) reflecting radio waves and makes radio communication possible. 

रेडडयो िरंगों को परार्तिवि करिा है और रेडडयो सिंार को सभंर् बनािा है।
(b) regulating the temperature of atmosphere. 

र्ािार्रण के िापमान को तनयंत्रत्रि करना।
(c) absorbing cosmic ray particles. 

ब्रह्मांडीय फकरण कणों को अर्शोविि करना।
(d) absorbing U-V radiations. 

यूर्ी वर्फकरणों को अर्शोविि करना।



154. Match the following /  तनम्नमलखिि को ममलाएं
List I (Sphere of the Earth)   List II (Main Constituent of the Sphere)

A. Lithosphere / मलथोस्िीयर 1. Living objects /  जीवर्ि र्स्िुएं
B. Hydrosphere  / जलमडंल 2. Mixture of gases / गैसों का ममश्रण
C. Atmosphere / र्ायुमडंल 3. Water / जल
D. Biosphere / बायोश्स्ियर 4. Soil / ममट्टी
Codes 

A B C D 
(a) 1 2 3 4 
(b) 4 2 3 1 
(c) 1 3 2 4 
(d) 4 3 2 1 



155. Most of the phenomena related to weather take place in 
मौसम से सबंंचधि अचधकांश घटनाएं घदटि होिी हैं

(a) Stratosphere  / समिाप मडंल
(b) Ionosphere  / आयन मडंल
(c) Mesosphere  / मीसोस्िीयर
(d) Troposphere  / िोभ मडंल



156. Assertion (A) :  Within the mesosphere, temperature decreases with 
increasing altitude. अभिकथन (A) : मेसोस्िीयर के भीिर, बढ़िी ऊंिाई के
साथ िापमान कम हो जािा है।
Reason (R) :  This is due to decreasing solar heating and increasing 
cooling by CO2 radiative emission. कारण (R) :  यह सौर िाप में कमी और 
CO2 वर्फकरण उत्सजवन द्र्ारा शीिलन में र्दृ्चध के कारण है।

(a) Both A and R are true, and R is the correct explanation of A 
A और R दोनों सत्य हैं और R, A की सही व्याख्या करिा है

(b) Both A and R are true, but R is not the correct explanation of A
A और R दोनों सही हैं, लेफकन R, A की सही व्याख्या नहीं करिा है

(c) A is true, but R is false  / A सि है, लेफकन R झठूा है
(d) A is false, but R is true  / A झूठा है, लेफकन R सि है



157. Which one of the following statements about the atmosphere is correct?  / 
र्ायुमंडल के बारे में तनम्नमलखिि में से कौन सा कथन सही है?
(a) The atmosphere has definite upper limits but gradually thins until it becomes 

imperceptible. र्ायुमंडल की तनश्चिि ऊपरी सीमाएँ होिी हैं लेफकन यह धीरे-धीरे िब िक 
पिला होिा जािा है जब िक फक यह अगोिर न हो जाए।

(b) The atmosphere has no definite upper limits but gradually thins until it 
becomes imperceptible.  र्ायुमंडल की कोई तनश्चिि ऊपरी सीमा नहीं होिी है लेफकन यह 
धीरे-धीरे िब िक पिला होिा जािा है जब िक फक यह अगोिर न हो जाए।

(c) The atmosphere has definite upper limits but gradually thickens until it 
becomes imperceptible. र्ायुमंडल की तनश्चिि ऊपरी सीमाएँ होिी हैं, लेफकन यह धीरे-धीरे 
गाढ़ा हो जािा है जब िक फक यह अगोिर न हो जाए।

(d) The atmosphere has no definite upper limits but gradually thickens until it 
becomes imperceptible. र्ायुमंडल की कोई तनश्चिि ऊपरी सीमा नहीं होिी है लेफकन यह 
धीरे-धीरे गाढ़ा हो जािा है जब िक फक यह अगोिर न हो जाए।



158. Consider the following statements 
तनम्नमलखिि कथनों पर वर्िार करें

1. 99% of the water vapour in the atmosphere is concentrated in 
the lowest 16 km. 
र्ायुमडंल में 99% जल र्ाष्प सबसे कम 16 फकमी में कें दद्रि है।

2. 90% of the water vapour in the atmosphere is concentrated in 
the lowest 6 km. 
र्ायुमडंल में 90% जल र्ाष्प सबसे कम 6 फकमी में कें दद्रि है।

Which of the statements given above is/are correct? 
(a) Only 1 (b) Only 2 
(c) 1 and 2 (d) None of these 



159. Arrange the following layers of atmosphere vertically from the 
surface of the Earth / र्ायुमडंल की तनम्नमलखिि परिों को पथृ्र्ी की सिह से 
लबंर्ि व्यर्श्स्थि करें

1. Mesosphere / मीसोस्िीयर
2. Troposphere  / िोभमडंल
3. Stratosphere  / स्टै्रटोश्स्ियर
4. Thermosphere  / बाह्यमडंल
Codes 
(a) 1, 2, 3, 4 
(b) 2, 1, 3, 4 
(c) 2, 3, 1, 4 
(d) 3, 4, 2, 1 



160. The weakest zone of Asthenosphere lies, from the Earth’s surface at 
roughly a depth of 
एस्थेनोस्िीयर का सबसे कमजोर िेत्र पथृ्र्ी की सिह से लगभग की गहराई पर 
श्स्थि है
(a) 100 km 
(b) 200 km 
(c) 300 km 
(d) 400 km 



141. (c) 151. (d)

142. (c) 152. (c)

143. (b) 153. (d)

144. (c) 154. (d)

145. (b) 155. (d)

146. (d) 156. (a)

147. (c) 157. (b)

148. (c) 158. (a)

149. (c) 159. (c)

150. (d) 160. (a)


